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Deft an independent set in a graph G V E
is a set V such that U V E X such that

ur E E

Theorem In the general case indepSet NPC

What about when the graph is a tree
and let us suppose it is a rooted tree has a rootvertex

identified

PIIfs a descendent of v if the unique path
from w to the root contains v

BE Wtv means w is a child of

or subtree rooted at for any node v is all the
descendents of w and the edges that connect them

Let MIS v denote the size of the maximum indep set

in the subtree rooted at v
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return max


